Basic Level Examination-2079
AR TE qLET-R09R
Kathmandu Metropolitan City

- Py : stfrEmd wftr
(Subject: Compulsary Mathematics)

Time : 3 hrs. - Full marks: 100
Class : 8"
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Attempt all the questlons

IJHE P’ (Group 'A’ (10><1 10)
1. a)fesuesr P X 1 AT 91 ST |

Find the value of x in the given figure.
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b) HTH 7 cm WH Fehl AR Frepretara |

Find the circumference of circle having radius 7cm.

2. a) [E® p(m,n)T Q(s,t) Fawrebr g&r wer wmeE |
Find the distance between the points p(m,n) & Q (s,t).

b) 060° ﬁfﬂrﬁmx&f%m?#ﬂﬁiamﬁﬁv;
Sketch to show the bearing of 060°.

3. a)ﬁwmmmmwwmn
‘ Write the set notation to represent the shaded region in the
given venn-diagram. Py
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b) feguat qeasH A AA EA & 7 Which is the mode of the
data given below 70, 80, 60, 50, 60, 75, 60.

a) 0.000000792 @ FfF FTHAHT ACTEI |
Write 0.000000792 in scientific notation.

b_4x2_25y2m§’@véﬁmﬂ‘-iﬁ?{l
' Factorize 4x? — 25y?
a) (x +y) @ AT 901 TSIl |
Find the value of = (x + y)n

b) & e |

Solve (9x — 17 = 10)
g ‘€@ (Group 'B")

a)ﬁzqzﬁr?—qwza?bzﬁruﬁwmﬁaqu

Find the values of a and b from the given figure.

(17x2=34)

a
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-b)wmzmwwﬂﬁ?ﬁgéaﬁa-
MUEE A&y |
Write down the two distinct propemes between parallelogram
and rectangle.

¢) fesg@r PAET AABC T APQR & T AR ATRT
EgA 7 A U WISl AT SHSee AEeld |
By which axiom AABC and APQR are congruent ? write a
pair of corresponding sides. A '




a) a1 AW AABC~AADE, AD=15cm, DE=10cm,
BC=25¢m ¥ AC=20 cm T AB I AT7 T ATS eI |
In the adjoining figure, AABC~AADE, AD=15c¢m, DE=10cm,
BC=25cm and AC=20cm, find the length of AB.
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b) ﬁZScmﬂEﬁﬂW@ﬁWﬁTml

Calculate the area of a circle with diameter 28 cm.

¢) TSI TEHEH! AT FATSTer |
Draw the net of a cuboid.
a) ate FEE® (0,6) T (a,0) ST=RT T 6 THIE AT '’ F1 AH
T AR | ' |

If the distance between the points (0,6) and (a,0) is 6 units,
Find the value of 'a'. :

b)h@.ﬁwawmmﬁgﬁmmﬁmw

From the given figure, find the length of unknown side.

P

6cm

R

Q — 8cm
& 7 U=(123.456}, A={12,3} T B=(2.3,6}) 7T AUB T
31“‘3'_:!3-'?1 |

If U={12,3,4,5,6}, A={12,3} and B={2,3,6} find AUB.
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a)mléﬂﬂvﬁﬁmﬁﬁﬁl

=3

Rationalize the denominator. :- o7 |
b) AT 7 Tttt 3. 600 =< 5:7 B ATIITAT Ftgar Ta
T Hier gt TSI J4T TSN |

When Rs. 600 is divided between sushant and Angel in the ratio
of 5:7. Find how much money will Sushant and Angel get?

c)mmwwﬁﬂmwaﬂmaﬁqn

Find the median of the given data: 27, 29,148,253 215 26

a) WUSTHW THAR (Factorize) - x2 — Xy +2x =2y
) T TR (Simpliy) - (25 x (x)°%  (xeyac

xM-n_ m+n
c) afg m=4n=1x=3y=2 W"xm+n.ym-n ® AT
T T 7

if m=4n= 1,x=3,v=2 then what is the value of
xm—n' xm+n .

a) -Wm3x+5<2m€mnﬁﬂmmmaﬁmr

Solve and Represept Inequaljty 3x+5<2 in number line.

b) B9 T (Solve):- et 8

4x+5 2

9HE T (Group 'C")

.WWWWWWFR@T@?{I

BIF ATH R T A freE afrars B 1)
Experimentally verify that the diagonals of rectangle are equal.
(Two figures of rectan gle with different measurements are
needed.) |
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19.

'mmﬁwwscmwww

AT TR

Construct a regular hexagon with a side 6cm by using compass. .

How many blocks each of 0.‘3m><0_.2ml><0.2m‘wi11 be required to
construct a wall of 12m length 0.5m breadth and 3m height?

P (4-3), Q(7,3) TR#42) W Protst PQR &1 ofrifage® &1 |
wﬁwmwﬁx-awmml
P (4,-3), Q(7,3) and R(4.2) are the vertices of a triangle PQR. '

Draw APQR in a graph paper and reflect in about X - axis.
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PrandieE T AT |

In a group of 120 students, it was found that 80 students liked
apple and 40 liked banana. If 20 of them liked both fruits then by

~ using venn-diagram. Find the number of students who did not

like both fruits. :
e A | (Simplify) - —% 4+ /300 — 3V48

TIeT AT yefra 7 ¥ 15000 g | waHr 10% 92
R 13% W ATTAIE BT (VAT) @18 231 FferaT e ?
The marked pri'ce of an article is Rs. 15000, if 10% discount is
allowed and 13% VAT added then what will be the selling price
of an article. S '

50 ST HIHEAETE B s T 24 fad W@ WA 15 S
TS A T A Pl [ e '



20.

i

‘2.

23

If 20 persons are required to complete a work in 24 days, in how
many days can 15 persons finish the work?

(3 looaoa?rsa#mm%a?raﬁwaﬁm?ﬁwmw

I |
Find sunple interest and amount on Rs. 10,000 for 5 years at the
rate of 10% per year.

WWWWWmel

Find the arithmetic mean of the following data.

X 50 55 60 65 =i 75

¥ 4 8 7 6 9 6
Hﬁ:x+—-—6wx + a?rm"rrtmmmﬂml

Ifx-l-—— 6, f'ndthevalueofx -I-—*

a.9. ﬁa?ﬁﬂﬁ-‘r{(Fmchmof

x* +4x+4x +5x+6andx -4
1 £ -

24. AT T | (Slmpllfy) sy e e

25. @@l feare ge T@B’R{ | (Solve graphically)

X+y=5and2x —y=1

Best of Luck



